X

[h

ERES RT-081

52 pOMETE 1140
120 WA 900
35 830
PoUK-A FLIO 2. 468 1 823.6
2FIURARIE Ty = 0
Juya (ALY F M) - 3
E@ E@ N2y ov—eFuh M6 !
=) IV ‘
BADESAS2 t=6.8 (%) #5281 =300
EPDMIty %5 5430 o / 5 Y > i8R t=1.6
mE
"3 B ’ / ° =
©
SR 89 *%
Wt t=2 1T ]
- |
) /‘M%%H@igwﬁg) @\k ﬂ B EBRD - YBR t=1.6
TP \ i im) Bl Do SR t=1.
bR b \ 4 ,j ﬂI \
N W8 —
© iR ! 7“
& \{fj‘ Tmi=: Bif 2R - ¥R {=1.6
BiEH =2 @ }
N e
" KR 86 14l il ‘
T KigRA - 83L\} = Hv Nw 20 W=30
AASHR i BT (WM =2 ZRED)
B i LL
7 BHERAM Al T/ <
(g [a»]
—— N
=
= Immz 7262 @300 ek 3
0 -yvg
o FOI-Fry S
~BAY) &
& -
0 FUIBEIM W=70 &
NITYION-
o . (87 IN-1BHE Y EEHEERE)
O —_ o
= #7Un- t=2.3
L0
(<o)
Bit-2 [-30x30x3
E&55(THER - BIERH)
ksS4 7 —/6 ?ﬁL%OX5OX20X23
CEEPIE: ) ‘ &
S=Uv T (B8) | +
50 ftEEOTE 840
27 %5 100 FEEOTE 940
/: (RAEROTE = Wi +40)
KB .. | \ N ()
F2I7 W= 4 07 ‘ o
ARELAVNMR t=25 | 70909 9¢
(Bl&) @ 4UF=04%— 1.80
ARD—F -
’ — — e 87 - ¥ 1B £ A 8 3 - ==
e EBRR 54 2E-9\0 F)I50) PSL—90x3000 e 58 R " N .
5| W EHEEAE -
Rt A
w 1 ] @ 1# A g
Rl 2 e} AT g Y




